ML Meguro Language Center

JLPT N4 Kanji Quiz - 27/34 Answer
Bl1 4 kbpE SoCQ0FEL,

(1) #JF 1 ¥HFED 2 721F9 7= 7= DO
(2) k5 1 725 2 <5 Fr % BB
3) E-C 1 - T 2 FoT W TC x-57TC
M2 ZHo —t+HIC ZEIC HWELE,

(1) %A 1 AL 2 BT HFALYD HAiox
(2) —+A 1 Zon 2 1Ir=bH Sy ESoY0N
(3) 4’k 1 AN 2 HWne HALD HE A
B3 ZALYIT Fody OTHAFELE,

(1) ZALwd 1 A 2 kil et 8
(2) Zrod 1 —H 2 —H = A H
(3) R°TAELE 1 KAFELE 2 RAHEFELE RBELT- RKAHFEL-
14 ZHABwY LLiF +750v O TLE,

(1) ZE¥ABWYWS 1 ZFai 2 P 2 {5 A )
(2) *¢& 1 4t 2 vl

(3) »H 1 & 2 5§}

15 7ZWnTTa, SAFAXA WEEYIT5E BbunEd,

(1) 7= 1 KRIK 2 B 3 K KAK
(2) SAFAZA 1 =M 2 = HH 3 =FH =7 H
(3) WLCx9 1 Uk 2 Uk 3 LLF 2LF



